
71 28 49 66

× 46 × 35 × 61 × 19

426 140 49 594

+ 2840 + 840 + 2940 + 660

= 3266 = 980 = 2989 = 1254

96 70 85 62

× 33 × 48 × 39 × 45

288 560 765 310

+ 2880 + 2800 + 2550 + 2480

= 3168 = 3360 = 3315 = 2790

44 37 92 89

× 68 × 14 × 76 × 27

352 148 552 623

+ 2640 + 370 + 6440 + 1780

= 2992 = 518 = 6992 = 2403

99 21 64 11

× 30 × 83 × 16 × 86

0 63 384 66

+ 2970 + 1680 + 640 + 880

= 2970 = 1743 = 1024 = 946

54 53 50 51

× 92 × 74 × 88 × 67

108 212 400 357

+ 4860 + 3710 + 4000 + 3060

= 4968 = 3922 = 4400 = 3417

 long multiplication
2-DIGIT BY 2-DIGIT 
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